Doy bve MK ot ype
Mock [est- 18

for AU Bramy { (o pattoen)



MATHCMATICS By Pradeep Sir

l ¥ Q. 1) Which of the following numbers is
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(X +y) =784 5 238
Ia = 192

x?. __azz?

.

X g = (34y) (-9)
RE XY 5 112

——
P ——

(x - ;' = (3¢ f‘-— \4“3
2 1™ -Ux\q=

Q. 2) The square of the sum of two given
natural numbers is 784, while the product of
the two given numbers is 192. Find the
positive difference between the squares of
these two given numbers.
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Q. 3) What is the sum of the divisors of 484
that are perfect squares?

484 & I YTSTP| &1 a1 fba=r & it qof af &2
(a) 125

DEE

(c) 610

(d) 13
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Q. 4) In a certain year, the population of a city
was 18000. If in the nect year, the population
of males increased by 5% and that of females
increased by 7% and the total population
increased to 19200, then what was the ratio of
the populations of males and females in that

given year?
wﬁéaaﬁﬁwmaﬁmjaooozm
gfg et av, B STHRT | 5% Bt

g5 3R #Aiganait &t s=uen & 7% ot gfS g3,
3R & FATHBAT TGP 19200 B T3, A I
e a¥ # geul iR Higamsh & w=HEwn #1
3UTd T AT ?

(a) 2:5 _
() 4:3 (d) 35
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Q. 5) A shopkeeper sold a pair of headphones for
Rs. 5520 at a gain of 20%. What would have been
the gain or loss percent if it had been sold for Rs.

4370?
U® SPHER A 20% & d1H TR gSHIH Bt U Alst

5520 % H dd11 gf¢ 39 4370 T ¥ 99T S141, df @1 AT

(b) Loss 5%

) Gain 2%
(d) Loss 10%
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Q. 6) The marked price of a frock is Rs. 4500. It is to
be sold at Rs. 2400 at two successive discounts. If
the first discount is 20%, then the second discount

will be: UF Wi &1 3ifd Hed 4,500 ¥ g1 39 o
HU® Fel U 2,400 ¥ H 971 91 g1 4l ac
20% §, T g8 Ye I B
(@) 40% (b) 30%
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a A = Armtownt (1R pfes)

o | Q. 7) A sum of money becomes 8/7 of itself in 2
P> prmapad ( BeAus) years at a certain rate of simple interest. The rate
C> Time (H2nD per annum is:aﬂ o ufty 2 96 3
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Q. 8) Radhika owns 2 dogs, 3 rabbits and 4 parrots
as pets. What is the ratio of the number of rabbits
to the total number of pets Radhika owns?

ST & Iy A & FYH 2 $o 3 @I
aﬂvuﬁ%%u?fgqmq;lmﬁsﬁaﬂﬂgaﬁ?m

U3 Dt T BT BT SHUTd T FIM?
(a) 2:3
GER (d) 3:2
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Before ALte, Q. 9) The average age of a group of friends is 27

Lo : years. If 4 new friends whose average age is 25
et a5 years join them, gthe average age of the entire
group becomes 26 years. How many people were

there in the group initially?

< F L5
| il & s o d 3mg 27 a9 g1 Tfe 4 AU
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26 |
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(w = TrE&E - w
r Q. 10) A and B can individually complete a piece of
T = LW work in 18 days and 30 days, respectively, A and B
= started 16§ working together, but A left 16 days
before the work is completed and B alone
+2
&‘f Z o ﬁf;{e"' completed the rest of the work. For how many days

dldAwork?

+ —~ 3R B 3ICNT-3eNT U BT B! HHY: 18 &7 3R 30
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Q. 11) If one man or two women or three boys can
inish a work in 121 days, then how many days will
one man, one woman and one boy together take to

L = 2 :{ 21'%5" the same ;ork? e =
] a1 ul%alqm 33&5 [t S1H
121 ?u HY GPd &, d1 TP Y3Y US Higan iR
(\” H Aae I T FI fFaq e & wr s
| %€ % Lo (@) 66 (b) 44
_ — 2 66 (c) 8¢ (d) 55
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- ol = 3KQO

Q. 12) An inlet pipe can fill an empty tank in 120 hours

q R — | & }'er while an outlet pipe drains a completely-filled tank in 54

hours. If 8 inlet pipes and 3 outlet pipes are opened
simultaneously, when the tank is empty, then in how

many hours will the tank get completely filled?
Do GO — 5Y hvs qai %qﬂ; m\;'lq g aﬁﬁgﬁm aﬁpn Y

Eﬂaﬂ%m%lufa%mm'g%?ﬂzmams
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Wal® TP AT3cde Uy TR aig d WY ¢ &l 54 ©e
U1y Us 91y @ia

Ty — 89 = J4 e | HY STeTm?

(a) 81 D) 9C

1@ Lken
\5-]S
—— = 70 howd
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D >:Da$f

S j_i;z Q. 13) Two trains of length 130 m and 120 m are

ST running on parallel lines in the same direction at a
S =M speed of 40 km/h and 50 km/h, respectively. In

R'S » fltive Sews how much time will they pass each other?

— 130 Ht 3R 120 Ht daE $1 3 Yenfear IHE fE=m

— — ﬁmmimaﬁwm 40 km/h 3 50 km/h
E—; ~—— B AEATAC 81 TP g DI g # UR

(+)
(a) 85 b) 62 sec
M |Sec *i Kken | b (,;)53 -
N — ke |k
(—: 2 f%m Mt - o0\ |Sec
S Holen| W=
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Q. 14) A boat can go 60 km downstream and 40 km
upstream in 12 hours 30 minutes. It can go 84 km
downstream and 63 km upstream in 18 hours 54
minutes. What is the speed (in km/h, to the nearest
integer) of the boat in still water?

U 19 12 Ue 30 fiFe & YRT & 3P 60 km 3R
YRT & Ufd®d 40 km ST IHdl g1 Tg 18 °e 54 fiFe
# YRT & AP 84 km AR YRT & UfAHd 63 km ST
APl 81 Ad 9d_H A1d Dt 914 (km/h B, Fwveaq

quife a@) fra-t 82
(@) 7 OF:
()9 (d) 10
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= Ciam) O-m)
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Q. 15) Simplify the expression
m) # 0 . AP

gl

(a)

c) C

(d) 1

12 2

(14m)2’

o7 P A J1d P, A (1+m) # 0

provided (1 +
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Q. 16) if (a® +b* +c® —3abc) =405,and (a+b +c¢) =

15.

'3\“4*5 H)FQZH}KZ) - (q b+be +_@ngind the value of (a — b)? + (b —¢)* + (c — a)>.
'Clﬁ(a3 +b® +¢° —3abc) =4053h?(a+b+c) — 15%.
dl (a—=b)? + (b—c)? + (c — a)? BT HIAH FTd DT

J@r39 [(aspach 3 -1 'm
c) 18

(d) 45
L~
S (@+er) L (a-by+ (b0 (c-af
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L @Q.17) If sin x = 3/10, then what is the value of
tanx + cotx =7?
gfe sin x = 3/10 €, dl tan x + cot x BT HH AT
[ 100
®) 30
() 775 () 3785
| 0O
'S\ﬁ\
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Q. 18) Solve the

iven expression. g€ T

(o205 —Coto =)

A+R =90

g"fl ﬂ‘*%:ne =
~ Cap

Cin ool Pl HIA JId I
L ome 90—\ sec2(90° — 8) — cot? 0
Jo+o 3o 4o 2(sin? 35° + sin? 55°)
| 80 - ©® ‘
(4 AL b mm
R 0
) B5 ) (c)1.5
tom 24
Cod Sec (d) 1 N
=g an CoS (1)
)
30-0 N A0+
Lo -0
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Q. 19) cosec2910° + sec4260° + tan 2565° +
cot1755° =?

(a) 3

(b) 1

(c) 4

(d)0
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Q. 20) C1 and C2 are two concentric circles
such that the radius of C2 is less than the
radius of C1. If AB is the chord of C1 of length

12 cm touchm C2 at P find the length of AP.
3R C2 a f& c2 #t

ﬁmm aﬁﬁmﬁm uﬁAs C1 &I 12
cm THETE DI oflaT ©, Gﬁczaﬁpwwafamﬂ

2 ) AP F aTE 3T FifoTT
(a) 9cm (b) 10.5 cm

@8
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Q. 21) In the given figure, the length of arc AB is
equal to 3 times radius r of the circle.

gl 1% 3MTHid H, T AB B daTg gd I AsAr 1 & 3
T & R g

Find the are of sector OAB in terms of radius r.
et r & A # ASaEs 0AB &1 &% d FTd B |
(a)1.5r (b) 2.5 r?

(a) 172 r? (d)3r?
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|
S, 12,13 Q. 22) PT is a tangent to a circle whose centre is O,

and where T is a point on the circle. If PT = 12 cm
and PO = 13 cm, then find the radius of the circle.
— PT U% g9 &I WIRWT g a1 50 8, IR T30
. , WReF fagRIaRPT=12cm 3R PO = 13 em B, ot
X m g9 @ B 39 i

0 B¢ (a) 4 cm
— ~. (b) 6cm
o ) 4.5 cm

d) cm
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Q. 23) Three cubes with sides in the ratio of 3:45

are melted to form a single cube whose diagonal is

18v/3 cm. The sides of the three cubes are?

3:4:5F urd ¥ YaA13fl ardt di9 g4l 3 foaamsr

gﬁmmmm%ﬁwﬁﬁﬂ 18V3 93 &I
gl B Yg ......... B

(a) 21 cm, 28 cm and 35 cm

(b)9cm, 12cm and 15 cm

(c) 18 cm, 24 cm and 30 cm

(d) 12cm, 16 cm and 20 cm
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Q. 24) Study the bar graph carefully and answer the
question that follows.

The following bar graph shows the sale of
Bluetooth earphones on online market places over
the years.

aR TP &I g By IR Fafafaa uy
&1 I < TR 1% fUod aul o

Sale of Bluetooth earphones (in Lakhs)

Find the approx, percentage increase in the sale of
earphones from 2017 to 2020.

2017 ¥ 2020 9P STUIGIA $t fawt # FvrH ufawa
gfs 9ra Fife|

(a) 69% (b) 57%
(c) 78% (d) 71%
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_ 0. 25) Study the given tablke and answer the
question that follows.

The table shows the number of candidates who
| appeared (App), qualified (Qual) and were selected

— (sel) in a competitive examination from four states

Delhi, Goa, karanataka and Maharashtra over.
Praifed difereT o1 e &Y ok A12 feu 7T uy
| &1 IR T Waﬁzmz H 2016 ¥ SR IR

Il feeett, Man, Fefesd 3R wgRY | e wiaantt
Tdian # IUfRYG, U UIQ MY SR Tufa Inftgard
31 H&AT Wit 2

The percentage of candidates that qualified from
Goa over these that appeared from Goa is highest
in the year =

T A UG 211 a1 B & A a1 A uTF UY §E
CIGEIEIE A8 IGEG KL T ¥ 9gad ifers g

(a) 2013 (b) 2014

(c) 2012 (d) 2015




